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71413|15|4|4(3|5(5|412|14]13|3|4
11941 |6|5|6|7|5|/6]|1019]|5|6]|5|7|9]|7(10]6,817[60(-/MOM1, Termoth2
219209 |5|5|6|6]|5|7|10|17]|4|6]|5|7|7]|7(10 55(-/RM1
319215 |5|16(6|7|7(8|9|6(7|7147[9]7]9 58] -
4187625556569 -/ Termoth2, RM2, MOMZ2, PAC, Tribologie, VSRI
51922514|15|/6|6|5|6|8|5[5|6]5|]6]|8]6]°9 53 |SIM1, Grafical / RM1, RM2, OM1-4, VSRI-5
619232|16|5|6|6|6|6|10|7|7|6|(5[6(8|7|9]6,617 |60 [AM-5/RM1, RM2
719249 |5|5(6|7|7(6]|1015(6|8|7|7|9]7]|10[6,783|60]-
819271 1915(10]101 8 8] 9 819|16|8|8|8]10]8,533|60] -
919273 |1 75(7]19|18[9]9 7(6]6|10[ 8| 8]10] 7,983 |60 | -
101 9292 |4|15|16|5|5|6]|10|6]6|7|5|7]|8]|8(10 53] -
111104841 519110/ 8|6|8|10|7|7|6|5|9|7|7|10[ 7,483 (60 |-/ MN1-7, PAC-8, Tribologie-7
121 9302 |4|15|16|16|5]|8|10|16]7]|6]|5 717110 53 (-/RM1, RM2
Mec1, Grafical, Mec2, Fizica, Termoth1, Chimie, SIM2 /
13| 9751 1015 T1e1sper|ofol4 6 0 38 RM1, Termoth2, Ed fiz2, RM2, VSRI, Ed fiz3, Practica dom
141 9653 | 555 7|7|7]|1019(6]|7|6[8]9|7(10] 7,1 [60]-
15| 9317 |6|1618|8|7]8|10|8|5|8|7|8|9|7(10][7,517|60{-
16| 9319 |10( 78| 7| 7|10]10(10{ 9| 8| 6| 8 |10/10{10] 8,767 | 60 | -
171 ass1 1als5l5l0l5l5l0l5l5!7]5!07]8l6!l10 45 SIM1, Grafical, Grafica2, Mec2, Algebra / MOM1, RM2,
MN1, PAC
18| 9367 |4|15|5]|7]|5|6]9|8|4|6[4[7[9([8]9 46| -/RM1
191 9380 | 0| 5|4|6|6(6(10]|5]|5|7|5|7]|7]6]10 50 |Grafical, Mec2, Fizica / RM1, TCD, RM2
20l a0lolslslolelslslolslolslzl7]7110 39 CQ/IR,I_SE_:MI, CE, Mec1, Grafical, Grafica2, PCLP / RM1, TCD,
21| 9418 |6|5|6|7|7|8|10(10[{ 87|57 [10] 7|10]| 7,533 |60 -
22| 9448 | 5| 5(5|5|7|(8|9|7(6|7|4|8|7]|6](10 58 |Ed fizl / Ed fiz2
23| 9468 | 5|1 5(4|16|5(6|9|4(3|7|4(7[8]|6][10 45| -/ RM1, Termoth2, RM2, VSRI
241 9469 | 0| 5(5]|5|5(6|1014(3|6|5(7|6]6(10 43 |-/ RM1, Termoth2-6, RM2
25| 9479 10| 0(6|8|5(6|8|0(3|2|4(8|7]|7]10 33 |SIM1 / RM1, RM2, Tribologie, VSRI
26| 9660 | 5|15]14|6|5(6|9|5(4]|6|4]|7]8]6]10 50| -/ RM1, Termoth2-5, RM2, Practica dom
27| 9486 |6|6|5|7|7|7|9|5|6|7|6[7[9]|6]|10]6,783|60]-
28| 9499 | 6| 5(7|7|7|7]|1015(3|6|6(9[8]|7]10 55| -/RM1, RM2
29( 9524 |4 5|5|6(5|7(10/7]|7|7]|6]|8[9]|8(10 53| -/ RM1, Termoth2, RM2
30| 9535 [ 5|16|5(6]6|8[9]|5|3(6]5]|8(10]6]10 55 (SIM1-6 / RM1, RM2
31| 9562 [ 8 7 [10{10[{ 9 9[10(10] 9 [10] 7 |10[10/10]| O 56| -
32| 9566 [ 5| 5|5(6]5|6[9]|9|5(4]|4|7|8]|7]10 541 -
33 9571 |0jJ0O]J0O]J]0O]JO)J0O]JO|O|JO|O|OfOfOfOfO 0 |AM, SIM1, Mec1, Termoth1 / RM1, RM2, Practica dom
349576 |5(5(5|5|7[6|9|5[5|6]|5[7|9]|6]|10(6,183[60]-/RM1, RM2
35| 9589 [416|5(5|8|8(10]7|5(8]|7|7[10]9]10 53 [SIM1-5, PCLP-5 / RM1
36| 9582 (4 (5(6(9(8|7|10/8|5|7|5]|8]|10|6]10 53 |-/ RM1, Termoth2, RM2
37( 9601 (8|7|6(7(7|6|9|8|7|8|6|7]|9]|9]|10]|7,617]60]-/Termoth2-5
38911 |6|5(5|7|7[6]|10|/6[(6]|6]|6[8|9]|7]|10[6,833[60]|-/RM1
39| %66 [4]5|5(5]5|5(8]0]0(2{0]7|5(6]0 33 (SIM1/RM1, TCD, RM2, PAC
40| 9604 |6 5[5|5|5(6]|8|5[5|6|4(5]|8]|6](10 58 |AM-5, SIM1, Mec2, Algebra-5 / RM1, RM2
a1l o145 |5]6l6l7l6l6lolslsl7lal7]9l6]10 58 SIM1-6, G.rafical,AIgebra-S, Ed fiz1 / Termoth2-6, Ed fiz2,
RM?2, Ed fiz3
42| 9151 |5]5|6l9l8l6l o9 6lals 10| 7.35 | 60 Qrafical,Grafica?:, Fizica, Ed fiz1 / Termoth2-5, TCD, Ed
fiz2, RM2-5
43| 9632 10 10] 8,633 | 60 | -




